(2/N) dN/ 5.12e+03 units

(1/N) dN/ 3.43e+04 units

0.06

0.04

. Input variable: lep_Pt_1

x10

Sigral

Background

1 L

50

100 150 200
lep_Pt_1 [units]

500

—l

1000
MvisnonH [units]

3,B): (0.059.0)%/ (0.0, 0.1)%

5,B): (0.059.0)% / (0.0, 0.1)%

(2/N) dN/ 0.136 units

(2/N) dN / 5.53e+04 units

Input variable: DeltaRLeadingjets

4
DeltaRLeadingjets [units]

= Input variable: HT_jets

500 1000 1500 2000

HT_jets [units]

3,8): (0.0, 0.0)% / (0.0, 0.0)%

3,B): (0.0.0)% / (0.0, 0.0)%

(1/N) dN / 0.167 units

(1/N) dN / 1 units

Input variable: jet3_eta

3,B): (0.0, 0.0)% / (0.0, 0.0)%

-2 0 2
jet3_eta [units]

Input variable: nJets_OR_T_MV2c10_70

3,B): (0.0, 0.0)% / (0.0, 0.0)%

2 3 4
nJets_OR_T_MV2c10_70 [units]

5 6
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